JPM-13CS Gearbox Assembly

Product Images

//////



https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

Part Number

MHA-G

MHA-GUW

MHA-GO1

MHA-GOTUW

MHA-GO02

MHA-G02

FK-AO3

MHA-GO03

MHA-GO3U

PGA-M15

MHA-G04

MHA-G04U

MGA-C28

MHA-GO5

MHA-GO5U

5FA-A07

5FA-A07

MHA-GO06

MHA-GO6N

MHA-GO6UW

TS-1503051

MHA-GO7

MHA-GO7N

TS-0680021

TS-0680021

TS-1540041

MHA-GO08

MHA-GO8N

MHA-GO8U

PGA-M12

Description Size

Gearbox Assy (#'s 1-33,35) (serial #810xxxx and lower)

Gearbox #'s (#s 1-12,14,16-32,35-36) (serial #811xxxx
and higher)

Gearbox Body (serial #810xxxx and lower)

Gearbox Body (serial #811xxxx and higher)

Gear Shaft (serial #810xxxx and lower) 10T
Gear Shaft (serial #811xxxx and higher) 10T
Key 3x3x8
Gear (serial #810xxxx and lower) 46T
Gear (serial #811xxxx and higher) 44T
Bushing

Gear (serial #810xxxx and lower) 38T
Gear (serial #811xxxx and higher) 43T
Pin 4x16
Gear (serial #810xxxx and lower) 51T
Gear (serial #811xxxx and higher) 47T
C-Ring STW12
C-Ring STW12

Gear Box Cover (serial #607xxxx and lower)
Gear Box Cover (serial #608xxxx to 8 10xxxx)

Gear Box Cover (serial # 811xxxx and higher)

Hex Socket Cap Screw M6x20
Bracket (serial #607xxxx and lower) R.H.
Bracket (serial #608xxxx to 810xXxX) L.H.
Flat Washer (serial #810xxxx and lower) 1/4
Flat Washer (serial #811xxxx and higher) 1/4
Hex Nut (serial #810xxxx and lower) M6x1.0
Gear (serial #607xxxx and lower) 24T
Gear (serial #608xxxx to 810xxxXx) 28T
Gear (serial #811xxxx and higher) 22T
Bushing

https://jpw-catalog-ga-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly

Qty

713125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

Additional Information

MHA-G09

MHA-GOSN

MHA-G18

MHA-G10

MHA-G10N

PGA-C17

MGA-C32

5FA-A10

MHA-G11

MHA-G11U

5EB-A08

TS-1503031

5FK-B02

MHA-G12

MHA-G12N

MHA-G12U

MHA-G13

MHA-G13U

MHA-G14

MHA-G14U

MHA-G15

MHA-G15N

MHA-G16

MHA-G17

MHA-B08

5FK-BO5

MHA-G19

Stud Bolt (serial #607xxxx and lower)
Stud Bolt (serial #608xxxx and higher)
Key

Shaft (serial #607xxxx and lower)
Shaft (serial #608xxxx and higher)
Sprocket

Sprocket

C-Ring

Gear (serial #810xxxx and lower)
Gear (serial #811xxxx and higher)
Washer

Hex Socket Cap Screw

Key

Shaft (serial #607xxxx and lower)
Shaft (serial #608xxxx to 810xxxx)
Shaft (serial #811xxxx and higher)
Gear (serial #810xxxx and lower)
Gear (serial #811xxxx and higher)
Bushing (serial #810xxxx and lower)
Bushing (serial #811xxxx and higher)
Bushing (serial #607xxxx and lower)
Bushing (serial #608xxxx and higher)
Washer

Washer (serial #810xxxx and lower)
Stud

Key

Gear Shaft (serial #811xxxx and higher)

5x5x9

STW15

43T

40T

M6x12

4x4x7

31T

29T

I.D. 6

[.D.10

4x4x12

10T

Stock Number

708524-3

https://jpw-catalog-ga-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly

713125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly

Products in this set

713125
https://jpw-catalog-ga-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly



https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-gearbox-assembly

